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QUESTION 1

A VMware administrator determines that the active memory on an ESXi 5.x host is 20% and the consumed memory is
90%.

How much host memory is available to virtual machines?
A. 80%
B. 10%
C. 70%
D. 20%

Correct Answer: A

QUESTION 2

Which steps should an administrator take to migrate existing ESXi 5.x virtual machines to a storage over-subscription
model?

A. Right-click the .vmdk file, and click Deflate.

B. Right-click the .vmdk file, and click Compress.

C. Right-click the virtual machine, click Migrate, select the same datastore, and select Thin Provision.
D. Right-click the virtual machine, click Migrate, select a different datastore, and select Thin Provision.

Correct Answer: D

QUESTION 3

An administrator is attempting to use Update Manager to patch a cluster of ESXi 5.x hosts. The administrator needs to
stage the patches for a scheduled update after hours. When verifying the hosts after the scheduled upgrade, the
administrator determines that one of the hosts was not remediated and patches are not staged. The host is using PXE
as its boot method. What condition would cause this behavior?

A. The host was rebooted prior to the scheduled remediation.

B. Remediating PXE-booted hosts using Update Manager is unsupported.

C. The user account used does NOT have the Remediate Hosts privilege.

D. The RAMdisk on the host has insufficient capacity.

Correct Answer: A
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QUESTION 4

When deploying two sibling resource pools (RP1 and RP2), an administrator needs to make all resources in RP1
available to virtual machines in RP2.

Which configuration should the administrator use to meet this requirement?
A. Set the Reservation of RP2to 0

B. Set the Reservation of RP1 to 0

C. Set the Limit of RP1 to Unlimited

D. Set the Limit of RP2 to Unlimited

Correct Answer: B

QUESTION 5

A vSphere administrator needs to add a CPU to a virtual machine, but upon editing the VM settings the
option is grayed out.

What would explain this behavior?

A. The virtual machine is running

B. The virtual machine has been configured with a CPU limit

C. CPU Hot-add has not been enabled on the virtual machine

D. The virtual machine is in a resource pool with no available CPU resources

Correct Answer: AC

QUESTION 6

An administrator needs to install vSphere Update Manager using an external SQL Server 2008 R2
database. The administrator has created the database successfully, but cannot establish connectivity
when testing the DSN.

Which configuration setting could be causing the issue?

A. The database was configured to use Windows authentication.

B. The DSN was configured using a 32-bit ODBC connection.

C. Update Manager does not support the use of a remote database.

D. Port 9087 is being blocked by Windows Firewall on the Update Manager server.
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Correct Answer: A

QUESTION 7

What will cause the validation of a vMotion migration to fail?

A. A virtual machine configured for CPU affinity

B. A virtual machine configured with a local .vswp file

C. A virtual machine configured to use NUMA

D. A virtual machine configured with a shared Raw-Device Mapped disk

Correct Answer: A

QUESTION 8

A vSphere administrator needs to enable Fault Tolerance on a virtual machine. When performing a Storage vMotion
migration, which setting should the vSphere administrator change in the virtual machine\\'s disk format to ensure it
meets Fault Tolerance requirements?

A. Thick Provision Eager Zeroed

B. Thick Provision Lazy Zeroed

C. Thin Provisioned

D. Thin Provision Eager Zeroed

Correct Answer: A

QUESTION 9

Which statement is accurate when choosing the storage controller for a virtual machine using the Create New Virtual
Machine wizard in custom mode?

A. There is a predetermined controller based on the guest OS, which cannot be changed.

B. A controller is recommended based on the guest OS type. The administrator can choose this controller or select any
other.

C. There is a predetermined controller based on the guest OS, which can only be changed after the virtual machine is
deployed.

D. The controller options presented will be based on the guest OS type. The administrator must choose one of these
options.

Correct Answer: B
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QUESTION 10

An administrator is deploying vSphere 5.5. The administrator creates a vSphere Distributed Switch, then
uses Auto Deploy to deploy several ESXi hosts. After the hosts are deployed, the administrator notices that
LACP packets are not being sent between them.

Which condition would cause this issue to occur?

A. The LACP support settings do not exist in the Host Profile.

B. The LACP installation bundle is not included in the Image Profile.

C. The LACP setting is not enabled on vCenter Server.

D. LACP has not been configured on the Auto Deploy server.

Correct Answer: A

QUESTION 11

An administrator is planning a new vSphere deployment using shared storage. The solution must support:
vMotion

Storage vMotion

Fault Tolerant virtual machines

VAAI primitives

RDM disks

Which storage type will meet these requirements?
A. CIFS

B.iSCSI

C.NFS

D. vSAN

Correct Answer: B

QUESTION 12

As part of a multisite Single Sign-On (SSO) deployment what two steps are required to ensure that a change to one
Single Sign-On instance is propagated to the other instances? (Choose two.)

A. Schedule a Replication Task on the primary instance
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B. Select the first instance during the installation of subsequent instances
C. During the installation of each instance choose Linked-Mode
D. Enable Synchronize to Active Directory on each instance

Correct Answer: AC

QUESTION 13

-- Exhibit --- Exhibit -
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The vSphere administrator needs to remove the Production virtual machine port group from an ESXi host. The ESXi
host\\'s Networking Configuration tab is shown in the exhibit.

After disconnecting the Fileserver02 VM, what step does the administrator need to take, assuming that vSwitchl will still
be needed for further configuration?

A. Remove the Production port group by accessing the properties for the port group.
B. Remove the Production port group by accessing the properties for vSwitch1l.

C. Remove the Production port group by accessing the properties for the Network.
D. Remove the Production port group by removing vSwitch1l.

Correct Answer: B
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QUESTION 14

-- Exhibit --- Exhibit -
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An administrator receives notice of a large number of ARP table issues. The issues began after a maintenance window
36 hours ago. The issue did not exist prior to the maintenance window. Which change was made to the port group that
is causing the ARP table issue?

A. Notify Switches was changed to No.

B. Uplink 2 was changed from Standby to Active.

C. Failback was changed to Yes.

D. Network failure detection was changed to Link status only.

Correct Answer: A

QUESTION 15

A vSphere administrator is administering a vSphere Distributed Switch port group using the vSphere Web Client. The
port group was configured using Static binding, but the number of ports must increase as virtual machines are added to
the port group. Which port allocation setting should the administrator use to achieve this goal?

A. Elastic

B. Dynamic

C. Fixed

D. Manual

Correct Answer: A
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